

Arabo Daniel Ifeanyi Chukwu

19/ENG05/011

MAT 102

$$1) x^2 + y^2 + 2x + 6y + 6 = 0$$

$$(x-h)^2 + (y-k)^2 = r^2$$

$$x^2 + 2x + y^2 + 6y + 6 = 0$$

$$\Rightarrow \left(\frac{2}{2}\right)^2 = 1 \quad \left(\frac{6}{2}\right)^2 = 9$$

$$(x^2 + 2x + 1) + (y^2 + 6y + 9) + 6 - 6 = 1 + 9 - 6$$

$$(x^2 + 2x + 1) + (y^2 + 6y + 9) = 4$$

$$(x+1)^2 + (y+3)^2 = 4$$

$$\text{Center} = (h, k) \quad \text{radius} = r$$

$$= (-1, -3) \quad = 2$$

$$2) x^2 + y^2 - 4x + 10y - 8 = 0$$

$$(x-h)^2 + (y-k)^2 = r^2$$

$$x^2 - 4x + y^2 + 10y - 8 = 0$$

$$\left(\frac{-4}{2}\right)^2 = 4 \quad \left(\frac{10}{2}\right)^2 = 25$$

$$(x^2 - 4x + 4) + (y^2 + 10y + 25) - 8 + 8 = 4 + 25 + 8$$

$$(x-2)^2 + (y+5)^2 = 37$$

$$\text{Center} = (h, k) = (2, -5)$$

$$\text{radius} = r = \sqrt{37}$$